Ol FZERE SAIM MY - MZE ol &EA (2

@MY - HME SEE
chol: X 2l)
Mg M &
2 -, = 20164 20174 SB)-(A) a - = 201614 20174 S2(B)-(A)
= < - ol AH(A) o £H(B) e H| S (%) = < - o AH(A) o £H(B) = H| & (%)
BHA| 188,761 186,553 2,208 -1.2 BHA 188,761 186,553 -2,208 -1.2
ALK EEZ 2 20,440 21,480 1,040 5.1|AF & H 2H 143,647 142,956 -691 -0.5
- =2 CIEAC TR | 20,440 21,480 1,040 5.1 o A | 126,947 127,956 1,009 0.8
2 a~H 20,440 21,480 1,040 5.1 = 04 93,121 96,849 3,728 4.0
N A 4,280 4,980 700 16.4 H| 5= =3 13,783 10,853 -2,930 -21.3
N | 4,280 4,980 700 16.4 Bz ® g2 8,775 8,982 207 2.4
A4 22 P/G 1,680 1,680 0 0.0 N 10,658 10,512 -146 -1.4
of 7} & & P/G 2,600 3,300 700 26.9 7| Et 3 A 2 | 610 760 150 24.6
Exgfd A 141,219 138,000 -3,219 -2.3 fuJCE ] 2H 900 900 0 0.0
Exgfd | 141,219 138,000 -3,219 -2.3 7 B 2 ¥ H| 400 400 0 0.0
ANE e =32 26,600 26,600 0 0.0 3| 9| ol 0 0 0 0.0
NZEFEEZ 114,619 111,400 -3,219 0.0 2 9 4 2H 15,800 14,100 -1,700 -10.8
FSICTI= 2H 450 600 150 33.3 o B 1,000 500 -500 -50.0
Moo 2 | 450 600 150 33.3 T EH| Y52 2,200 2,200 0 0.0
Moo M 2 450 600 150 33.3 z2 2 2 2 3,800 3,800 0 0.0
zeAdZFd 2H 9,086 5,750 -3,336 -36.7 H M3 23 2,000 2,000 0 0.0
= | 9,086 5,750 -3,336 -36.7 A | 6,800 5,600 -1,200 -17.6
A Y ZFHZ 6,086 750 -5,336 -87. 7| L= M b 2H 17,175 16,158 -1,017 -5.9
H X & 582 3,000 5,000 2,000 66.7 Al H 1| 2A 17,175 16,158 -1,017 -5.9
o & Z 2H| 12,615 15,618 3,003 23.8 Al A bl 15,618 15,618 0 0.0
o o 2 2H 12,615 15,618 3,003 23.8 N 557 540 -17 -3.1
MAzol g3 10,119 15,618 5,499 54.3 Al A FH| X[ H] 1,000 0 -1,000 -100.0
T Zo g3 2,496 0 -2,496 -100.0(AF & Hl 2H 27,916 27,419 -497 -1.8
g o+ ¢ 24 671 125 -546 -81.4 2 9 4 2 300 300 0 0.0
Z = ¢ 2H 671 125 -546 -81.4 &= g 7| 24 H| 200 200 0 0.0
of 2 o| X} =2 25 25 0 0.0 9| 2 oy 100 100 0 0.0
7| Ef & £ ¢ 646 100 -546 -84.5 Ab 2 27,616 27,119 -497 -1.8
A3l M S P/G 656 797 141 21.5
of 7t & & P/G 8,537 9,597 1,060 12.4
A x| R 356 370 14 3.9
W e PG 1,600 2,160 560 35.0
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Mo b =
a - = 2016\ 20174 SU(B)-(A) a1 - = 2016\ 20174 SH(B)-(A)
= < - ol AH(A) ol £H(B) ECEIEES - = N of £H(A) ol £H(B) Zo H| 2 (%)
H M A 2 P/G 6,863 4,003 -2,860 -41.7
Kbl 7N g AL 500 500 0 0.0
o 25 ALY 9,044 9,692 648 7.2
= oA P/G 60 0 -60 0.0
g A E | 3 0 -3 -100.0
&g x & | 3 0 -3 -100.0
¥ X & 3 0 -3 -100.0
g & 3 | 20 20 0 0.0
g og Z 27 20 20 0 0.0
of F ol X Bt &t 20 20 0 0.0
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